PRINCETON REVERB WIRING DIAGRAM

2 INPUTS 1

v, N ————
Q N
SPEED REVERB © BASS
3M Rev log \ 100K Lin 250K Log

A ) C

\
/ ) g =~
#8 GROUND TAB \R ™ 78 GROUND TAB
0 R N\

. p

= MOJO760EX / 4 =
POWER

TRANSFORMER

.

I
L
'

e B I I I B B
INSULATE

#8 GRGUND TAB — : = \ “‘ /) / / // / / /
_ ) B . MOJO772 \ / MOJO776
o’ § B ~_ \ . /Y REVERB
OUTPUT \ / 4
\ // ‘ " DRIVER
/ /

TRANSFORMER

#6 GROUND TAB #6 GROUND TAB

6Vé6 6Vé6

\\‘\,‘\.\

VIBRATO PEDAL REVERB PEDAL REVERB OUTPUT REVERB INPUT

POWER CORD GROUND 1 AMP. FUSE ON/OFF SPEAKER EXT. SPKR.
HARDWARE:
8 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS
6 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS
14 QTY 4-40 KEPS NUTS .
2 QTY 6-32 X 1/2" SCREWS FOR CAPACITOR CLAMP mnﬂ PRINCETON REVERB
REVISION 3
[ N == 11/1/2023

2 QTY 6-32 KEPS NUTS
9 QTY 8-32 X 3/8" SCREWS FOR TRANSFORMERS AND EYELET BOARDS

4 QTY 8-32 X 3 1/4" SCREWS FOR CHASSIS
17 QTY 8-32 KEPS NUTS



